7; B EX ,Df@ff/bm§ Wian 56?\/6'@/ &me/j

Ll//(& Qaﬂ()féa{Z/ }1&11/6 +he (‘_’,Xét(ff Samé
am&ﬂ

T hese can be cﬁmlyfnef/{ 5/'“?'&»/9
\\){k{ /be/mjl/ ﬁj; JSav iaples

to %
@ §)Mf);$ bj wméﬂ’l/’% /J =
(ﬂjl,éj5

Q) 3J5 +5J5 5)3?“%33/*755

) 337 +H3 _ G -E

d) 173 —6d & 933 +35t



@ \ﬂw{t;f/j
3 5(-5) ) F2(7-297)

2 (255 - (5 +17)

0) (+—J5) O 6-F)5+7)

*1/2/1655 o /C. c,m”@a{
(,0{]%3&"365



@ R@/b;ﬁlf)&/]%f f/’l@ ﬁ@”Dml’Vi@ﬁOf‘ (Rez//‘@u)

%

) Jz
J?Jrf

To Simplify Products or Quotients with Differing Indices

1. Convert all radical expressions to exponential notation.

. When the bases are identical. subtract exponents to divide and
add exponents to multiply. This may require finding a common
denominator.

3. Convert back to radical notation and, if’ possible, simplify.
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